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1. Here are the number of goals scored by 15 hockey teams.
? 21 30 26 37 34 21 24 45
23 20 15 23 18 13 19
Show this information in a stem and leaf diagram.
(3)
slem | leaf
1|35 8 9
2]l0 1 1+ 3346
alo 4 7
415
Heys: 113 mea™ 15
2. Here are the ages of 14 adults.

VA A O B A
WSS pA M

Draw an ordered stem and leaf diagram for these ages.

stem | Leaf
3|15 8 9
4lo 1 2223819 "
5|1 6 6
Heys 315 means 3%

The Maths Society



3. The stem and leaf diagram shows information about the ratings of

? 11 footballers in a computer game.

Key: 6|8 means 68

}/
\B 87
BXEBS

4y

(a) How many of the footballers had a rating less than 85?

O N O

..... 6 . ..
(1)
(b) Write down the mode.
75
(1)
(c) Work out the range of the ratings.
q| -8
........ 23 .
(1)

(d) Work out the median rating.
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4. Helen plays darts.

(-
Here are her scores.

55 28 48 28 A 4 A6
Wp g SR

(a) Draw an ordered stem and leaf diagram to show her scores.

gstem |e,a:F
213 9
3145 5656 6
gylo1r 4 38
5 |5

Ress + 2|3 meand 23

(b) Write down the mode.

(c) Work out the range.

56-23
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5. Here are the lengths in millimetres of 15 earthworms.

43)62(28/
wow f
A

(a) Complete an ordered stem and leaf diagram to show this information.

Go »

(3)
(b) How many earthworms are over 40 millimetres?
2
(1)
(c) Write down the mode.
(1)

(d) What fraction of the earthworms are under 20 millimetres?
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6. Kaitlyn asked 10 people how many cups of coffee they had last week.

Here are the results.
13}44 2}/1‘)9’}[;5‘,4?/12/

Kaitlyn then drew this ordered stem and leaf diagram.

Key: O |4 means 4 cups

4
23890

2 5
1

w N = O

Give two mistakes that Kaitlyn has made.

Mistake 1

....... Re..o,r.mn.gen.ien{.-.....:z.'.".é...mm.....‘..o.’.....ha..s..fb..be...m
O umber nof e dasbe

Mistake 2
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7. The number of people visiting a cafe each day, for 11 days, is listed below.
1/0{131 1;,(1;41}}9’1;/}26}/81)/1/(%5

(a) Complete an ordered stem and leaf diagram for this information.

A key has been included.

(b) Write down the mode.

(c) Write down the median.

(d) Write down the range. T

1Y

-104.

21

© Corbettmaths 2023

Key: 10| 4 means 104
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8. The stem and leaf diagram shows information about the time taken by each

=

g student to complete a puzzle.

Key: 2 | 3 means 23 minutes

o »h W N

If a student took less than 40 minutes, they win a prize.

One of the students is picked at random.

2
Thea says that the probability that the student won a prize is i

Is Thea correct?
Explain your answer.

12 -

—

19
No, because . 12 people. fo0k.  Jexs. fhan Y40

3
5

mins._..qmi_._s.'mc.e....&wm,.....c_m.._.tﬁ...people..:lh...pmb@h%
wlube%-%adso’lhalsw}wm4 .....
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9. The number of passengers on 10 buses was recorded.
The stem and leaf diagram shows this information.

HE

Key: 1|4 means 14 passengers

7Y

4 9688
A A

4

(a) Work out the median.

16+I18 _ |1F

w NN -~ O

p
(1)
A bus is selected at random.
(b) What is the probability the bus has more than 20 passengers?
A
(1)
The next bus has 32 passengers.
(c) Tick the box to show how this will effect the range.
The range will The range will  The range will
decrease stay the same increase
/ ’
(1)
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10. 12 of the students in a class sit a test.
? The stem and leaf diagram shows their results.

Key: 6 |O means 607%

01358
2269
07
68

(a) Work out the median score.

O 00 N O

32
(1)
A new student joins the class and sits the test.
The new student gets 98% in the test.
(b) Tick the box to show how this will effect the range.
The range will The range will The range will
decrease stay the same increase
(1)
(c) Tick the box to show how this will effect the median.
The median will The median will The median will
decrease stay the same increase
Y
(1)
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11. Noah places some books on a bookshelf

The stem and leaf diagram shows information about the mass of each book.

2450[1 112
6251[{00 23

y).o 2.3 2|3

h§ —_— -

Le 10-9

L 3

(a) Write down the median.

(b) Work out the total mass of the books on the shelf.

A book weighing 1.8kg is added to the shelf.
Peter says the median will remain the same.

(c) Is Peter correct? Explain your answer.

No, bg ad.dmj l.8fﬂ, the

cmdsoi{-ui\\w‘

O.q md o'

© Corbettmaths 2023

Key: 0|1 means 0.1kg

median wil fall bedween
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12.  Issy bowls 7 cricket balls and measures their speed in miles per hour.
% Each of the 7 measurements is to the nearest whole number.

r -

Here is some information about the speeds.

_+ Fastest speed 76 mph G_zfq.' ‘
-t Median 64 mph —
A Range 27 mph 4 1
e Mode 68 mph
Mean 61 mph

soizc_qe_gﬁgie

"’Jm.

Complete the stem and leaf diagramsg

Key: 419 means 49q

oo [»
s

_\J‘\O\":
5\.CO-°

®)
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